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DPP – 6 (Kinematics) 

 

 

 

 

 

 

 

 

 

 

 

Q 1. A projectile is projected upward with speed 2 m/s on an incline plane of inclination 300 

at an angle of 150 from the plane. Then the distance along the plane where projectile 

will fall is: 
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Q 2.  A projectile is projected with speed u at an angle of 600 with horizontal from the foot 

of an inclined plane. If the projectile hits the inclined plane horizontally, the range on 

inclined plane will be: 
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Q 3. Find time of flight of the projectile along the inclined plane as shown in figure: 

(𝑔 = 10 𝑚/𝑠2) 

 
(a) 2 𝑠𝑒𝑐    (b) 1.69 𝑠𝑒𝑐   

(c) 2.69 𝑠𝑒𝑐    (d) 1 𝑠𝑒𝑐 

 

Q 4. An inclined plane makes an angle 𝜃𝑜 = 300 with the horizontal. A particle is projected 

from this plane with a speed of 5 m/s at an angle of elevation 𝛽 = 300 with the 

horizontal as shown in Fig. Find the range of the particle on the plane when it strikes 

the plane: (𝑔 = 10 𝑚/𝑠2)  
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Q 5. Find time of flight of the projectile along the inclined plane as shown in figure: 

(𝑔 = 10 𝑚/𝑠2) 

 
(a) 5 𝑠𝑒𝑐    (b) 6.31 𝑠𝑒𝑐   

(c) 3.31 𝑠𝑒𝑐    (d) 2.21 𝑠𝑒𝑐 

  

Q 6. A particle is projected with a velocity of 30 m/s at an angle 60° above the horizontal on 

a slope of inclination 30°. Find its range and time of flight: (𝑔 = 10 𝑚/𝑠2) 

(a) 30 𝑚,  √3 𝑠   (b) 30 𝑚,  2√3 𝑠   

(c) 60 𝑚,  2√3 𝑠   (d) 60√3 𝑚,  2 𝑠 
 

Q 7. A particle is projected with a velocity of 30 m/s at an angle 60° above the horizontal on 

a slope of inclination 30°. Find its angle of hit with incline: (𝑔 = 10 𝑚/𝑠2)  
(a) 300     (b) 600   

(c) 900     (d) 450 

 

Q 8.  A projectile is fired horizontally from an inclined plane (of inclination 450 with 

horizontal) with speed = 50 m/s. if 𝑔 = 10 𝑚/𝑠2, the range measured along the incline 

is: 

(a) 500 𝑚    (b) 500√2 𝑚   

(c) 200√2 𝑚    (d) none of these 

 

 

Q 9. An inclined plane is making an angle β  with horizontal. A projectile is projected from 

the bottom of the plane with a speed u at an angle α  with horizontal then its maximum 

range 𝑅𝑚𝑎𝑥 is:  
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Q 10. A particle is projected from the bottom of an inclined plane of inclination 300. At what 

angle α (from the horizontal) should the particle be projected to get the maximum range 

on the inclined plane. 

(a) 150     (b) 300   

(c) 450     (d) 600 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Answer Key 

 

 
 

Q.1) c      Q.2) d    Q.3) b Q.4) a    Q.5) b     

Q.6) c    Q.7) b      Q.8) b      Q.9) b     Q.10) d   
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